
Calculations crossword (4)

Work out the answer to each equation, then write the number (in words) in the space in 
the crossword. Where an answer requires two words (e.g. twenty-two), a space has been 
provided.  

ACROSS

1. (17 + 5) – 6 = 

4. (8 x 8) – (6 x 7) – 1 = 

6. (25 x 4) – 16 = 

9. 144 ÷  = 12

11. (80 ÷ 4) + 31 = 

13. 100 – (20 – 19) = 

14. (75 ÷ 3) + 35 = 

15. ¼ x 40 = 

16. 95 – (14 + 11) = 

17. (90 ÷ 9) – 6 = 

DOWN

2. (4 x 3) + 8 = 

3. (80 + 8) ÷ 11 = 

4. (6 x 5) – (4 x 7) =  

5. (1/3 x 150) + 37 = 

7. 50 – (3 x 6) = 

8. (9 x 3) – 4 = 

10. 100 – (3 x 8) = 

11. (7 x 11) – (4 x 8) = 

12. 75 -  = 20

13. (4 x 3 x 9) – 16 =  
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